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JTL(BE) |mg/R <0.02 <0.02 <0.02
X o Fome/ <0.02 <0.02 <0.02
Bk e <.000% <.000% <.0003
B78%0k $Bng/Q .
P C B| mg/ @ £ Y
P H| - 74 14 114 7d 74 74 7.8 1.8 7.4 1.1 7.4 7.8
D O mg/ R g.0 7.9 77 7.9 59 7.4 58 7.4 671 83 6.9 7.5
#B O Dlm/R 3.4 55 3.8 49 47 4.5 3.0 3.2 21 23 1.9 1.9
C O Dimg/8 4.9 81 54 6.4 3.0 95§ 68 68 4.7 5.0 4.4 5.0
s S| mg/ 18 33 18 23 32 35 52 18 25 18 17 15
KBS B OBE g MPN/100Q 9.2€04 9.2604 3.5E04 9.2E04) 3.5E04) 3.5604) 9,204 9.2E04) 2.4E05 2.4E0H 3.5804 3.5E04
Bln—Hex mg/ £ : .
2 2  FHml
2 B mg/
Tz /=N [ng/ @
iH wg/ 0 <0.01 <0.01 <0.01
B $8 me/ 0.01 0.02 <0.01
$EC 7 B TE )| me/ 2 0.4 0.3 0.3
WHY (RN me/ @ 0.07 0.06 <0.05!
Wy o Nmg/R <0.01 <0.01 <0.0i
7 0w HwL <0.19 <0.15 <0. 15
TYEIT B # me/ R
T HAEETE B H me/ £
Wtk R e R
OB O Bieg/R
BlA B  Simg/Q 0.10 <0.07 <0.0%
¥ ® = uS/em 243 254 263 279 282 287 2800 280 28 289 28y 284
# K| mg/ R 6 9 : i1 8 <5
2 F 4 A ime/ R 14.8 17.9 1.0 14.8 14.0 14.9
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A IEIEE  SREeeEs | 10330 | 15:40 | 10:40 | 14:50 | 10320 {14:55 | 10350 | 14:50 | 10:24 { 14:07 | 10:24 | 13:53
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R BT 21.4 2.4 t1.8 7.9 8.4 14.9 10.2 10.¢ 58 1.4 .13.§ 15.0
—{ K BT 7.8 20.d4 2.4 15s.d 1.d 3. . 1.9 8.0 10.d 12.0 13.1
| Wl - oel os1l os1l osll 81| 18y 18] o022 o5 051 08l 061
e | - o] 19 1oy 1sf 191 s 1eq sl s 19 ey 191
A X | w/s 5.48 4.13 3.79 3.01 3.17 2.8
|| R - gl b D] B wmh| B mh mh | Bo | Bh| BO| B0 B
MEHE | om >30.0 >30.00 >30.d »30.d »30.0 »>30.d »30.0 24.00 »30.0 »>30.¢ >30.0 >30.0
B i $#B0KiE m
& kB m
BEYE | m
#EFE 3 Mg/ <0.005 <0.003 <0.005
gy 7 Y imesR N.D. N.D. N.D.
H OB e/l N.D. N.D. N.D.
58 mg/ 0 <0.05 <0.05 <0.05
S OL(EH) |me/ <0.02 <0.02 <0.02
18| Bt 7 wg/ 0 <0.02 <0.02 <0.02
2 ok e/l <.0005 <.0005 <.0004
Bl7osnk o/ '
P C B|m/f N.D. N.0.
| P - 74 7.4 81 84 74 7.4 7§ 7.8 7.4 7.4 7.7 7.4
# D 0| mg/ 8 74 7.4 7d s8d 73 89 61 s9 7.4 9.1 8.8 9.2
B 0  D{mg/R 1.4 24 34 39 33 3.4 3.9 47 4§ 2.4 3.4 4.
= C O  Dlimg/f 3.4 3.4 40 59 3.8 4.0 4.4 6.1 4.4 4.8 4. 5.1
#l's S| mg/ 2 14 1 13 2 g 7 1 37 9 I g 19
1H K BE B 2t 34 MPN/100nd 9.2€04] 1.6€08 1.6E05 1.6€05 1.3€04] 1.7E04 3.5E04 9.2€04] 1.1E04 7.0E03 3.5E04 8.2E04)
Bln—Hex mg/ £
£ ® T/l
2 1% mg/ R
T /=AM |ng/f
5 mg/ 9 <0.01 <0.01 <0.01
HE 5 mg/ 0 0.01 0.01 <0.01
(8 B )\ e/ R 0.1 0.2 0.2
Wy CERI)| me/ 0 <0.09 0.06 0.07
My o Hag/f <0.01 <0.01 <0.01
7 v Fwe/R <0.15 <0.15 <0.19
TUEIT fE B F we/ R
TH BEY R FH e/
= A = T
Bom o Himg/d
BA B S|m/@ 0.04 <0.02 1 0.0
H E & uS/en o714 29 214 2] 283 288 28 200 29§ 304 303 311
51 Jig mg/,Q_ <5 <§ <5 <5 <5 <5
5 % 4 4 Y me/Q 13.7 14.9 (5.9 16.4 17.9 17.2
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ki B KO PEEymE i B
s R—FT) Br: B A N O ( 006-51 )
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4 g 8 2| .. 5/16 /13 /25 8/24 10713
4 dEIEHE IR R 13:08 13:20 13:50 | - 13:17 13:15 13:30
x wy - R ) B By n o4 b5
= # T ' 12.9 21.5 21.5 3.1 23.2 11.9
— Kk . Bl T 7.8 10.0 15.5 17.1 2. 11.3
5 L 181 052 152 182 052 052
] EIEE 011 011 ol 011 011 otl
i B | m/S
H | igEE - ) : o g i #o b
MEEE | en | '
Bl ¥ EEUKE m
£ Kk &E m :
FEHE | m 1.5 2.4 1.4 5.0 1.8 0.5
HE I A/l <0.005 : <0. 005 <0. 005
i3 7 Y mgl/ @ + N.D. N.D. N.D.
" OB mg/ .
55 5 mg/ © <0.05 | . <0.05 <0.05
Z20L(BH) |[me/f <0.02 <0.02 <0.02
H % w2 § <0.02 <0.02 <0).02
2 Kk Eagl ' <. 000 <.0005 | <.0005
Hl7M%hk $mgsQ “
P C Bl mg/ 2 Y
P H - , 7.5 7.0 7.4 7.2 7.4 7.8
¥ D Ol mg/ 2 1 10.5 9.7 8.9 8.2 8.3 9.1
#B O D|m/f 0.9 <0.5 ‘ 1.9 <0.5 1.8 0.4
BC O Dimg/p 1.9 2.0 1.7 1.8 2.9 1.8
S S| mg/ 2 2 2 2 2 I
TH oK B BB E] PN/ 100n9 0.0E01 3.3E01 3.1E01 9. 2E03 | 1.1E03 5.4E07
Hin-Hex mg/ §
£ B #Hmnl 0.25 0.16 0.33 0.17 0.30 1.84
2 # mg/ D ‘ 0.004| 0.003 <0.003 <0.003 0.015 0.003
| 7z =t [mes @ - :
e mg/ <0.01 <0.01 <0.01
9 3 8 mg/ 0 <0.01 0.04 <0.01
BOm B ) /R ‘ 0.1 0.1 0.3
hy AR me/ 0 <0.0§ <0. 08} <0.0%
7 =] Ll mg/ R <0.05 <0.01 <0.01
7w ¥ mg/ "1 <0.15 <0.15 <0.15
TUET M E H om0 ‘ 0.01] . | <0.0t 0.02 ool 0.0 0.01
7 TEHRE 2 Fmg/ 0 0.002 <0.001f 0.001 <0.001 <0.002 <0.00i
[ 0.187 0.155 0.170 0.112 0.139 0.165
OB R Bimg/0 <0.003 <0003 <0.003 | <0.003 <0.003 <0.003
BA B  S|m/f <0.03 <0.02 <0.03
¥ ® # pS/em 63.4 46.7 - 49.§ 53.9 41.5 40.9
% B mg/ 0 <5 <5 <5 < <5 o
e % A4 A Yeg/Q 1.3 1.3 - <1.0 1. IBRE | <1.0

—122 -



A HH KK KHNE &R R

14 24 et

AR @ om ol -]
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A WIERE SRR 13120 11350 13:20 14:40 12:15 11:41
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5 g C 15.9 12.5 7.9 1.8 7.0 6.9
— & #{ T 10.1 8.3 4.4 2.9 6.0 3.9
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D =1 - 011 o1t 011 0t1 01t 0ii
A B | m/S
18- | REE - i 0 T
EF hy 7% | OE cm
B i IRk m
£ k& m
i3 % 6 e m 0.5 1.0 2.3 .
FF XY Lmg/f <0.005 <0.005 <0.005
gy 7 Ymel/f N.D. N.D. | N.D.
F B Bl N.D. N.D. N.D.
23 § mg/ ¢ <0.05 <0.05 <0.05
O L(BIE) |me/ <0.02 <0.02 <0.02
17 W ] mg/ £ <0.02 <0.02 <0.62
e x e <.0003 <.0009 _ <.0005
Bl7 8 %8k §Bag/R
P C Bjm/Q
P H - 7.9 7.4~ 7.9 7.4 7.9 7.2
4 p 0| mg/ £ 9.3 9.1 10.1 1.1 TR 11.3
#B 0 Dlims/ - <0.5 <0.5 <0.5 0.7 1.9 <0.5
BC O Dlmg/f 1.2 1.5 1.0 1.3 1.9 1.3
1 S S| me/ £ 2 1 2 1 R 1
16 & RS @ BE % HPN/100wY 3.5E02 2.4E02 7.9€0! 3.3E01 1.6E03 2.3601
Hln—Hex mg/ £
& B P/l 0.42 0.39 0.25 0.32 1.09 0.19
£ 1 me/ 0 <0.003 <0.003 0.008 0.003 0.015 0.005
Tx /- eg/ .
58 ng/ 9 <0.01 <0.01 © <0.01
W 84 mg/ R 0.01 <0.01 . <0.01
SEC T M1 N wmer R <0.1 0.1 <0.1
T (FERE) we/ @ <0.09 <0.05 <0.05
o o Nees? <0.01 <0.01 <0.0}
7w e/l <0.15 <0.19 <0.15
TUECT i B F e/ 0 <0.0} <0.01 <0.01 <0.01 <0.01 <0.01
T THEEETE B2 3 me/ R <0.001 <0.001 0.002 0.001 0.006 <0.00i
OBt s e/l 0.148 0.127 0.090 0.101 - 0.663 " 0.159
MO R Hed <0.003 <0.003 0.007 0.003 .0.010 <0.003
BlA B  S|m/R <0.02 <0.02 <0.02
1% ® . #H pSem 44.9 51.9 53.6 50.9 143 18.0
& 2 wg/ 9 5 <5 <5 <q <5 <5
g 4 Y aelf <.¢ 1.0 1.1 1.7 1.3 1.2
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X H B 4/25 5/18 6/15 7/13 8/29 9/14
2 HEERB FRERHER) | 11000 10:45 10:30 11:50 14:05 10:51
x Bl - 5 B nE ¥ K x
k3 B T 1.5 23.9 26.0) 28.0 31.2 25.58
—1 %k | C 13.0 17.0 22.5 21.5 24.0 18.5
it g - 080 062 062 080 0501 051
e - 011 o1t 011 011 oli 011
B’ | m/S '
o | EmiE - L M W i D> Wi
hi & 3 E cm :
B &1 1% kiE m
2k E m
W& W E m 3.0 5.5 3.9 3.2 0.8 1.8
7K XY Amg/R <0.005 <0.005 <0.005
Y 7 Umg/R N.D. N.D. N.D.
OB B/

) mg/ <0.05 <0.05 <0.05
LB e/ @ <0.02 <0.02 <0.02
B g/ 0 <0.02 ‘| <0.02 <0.02
# ok 8ol <.0005 <.000% <,0005 .

Bl7h%) Kk lmg/ R
F C Bl mg/ £ -r
P H - 7.4 ¢ 3.0 7.8 7.7 g T | 7.1
% D 0| mg/ £ 10.23 9.1 8.0 7.9 8.8 8.8
#HB O Dlm/p 1.1 0.8 0.8 0.5 1.3 0.9
BC 0 Dlm/f 2.5 3.4 2.7 2.0 1. 2.2
B s S| mg/ £ 1 <] <1 <l 7 I
H A B & BE ¥ MPN/100nd 0.0ECL 0.2E01 0.4E0] 0.4E01 2.4E02 4.9E02
Bln—-Hex mg/ ' ' ‘
& B FHwp 0.50 . 0.46 1.28 1.30 1.07
N # me/ £ 0.003 0.003 <0.00% 0.050) 0.037
Tx /=L |me/Q ‘ ‘
e mg/ <0.01 <0.01 <0.0}
1 58 me/ 2 <0.01 <0.01 <0.01
(@ B 1) e/ g <0.1 <0.1 0.1
N7 (FERRE) mg/ 0 <0.05 <0.05 - <0.05
MMy O Leesf <0.01 <0.01 <0.01
7 o | we/ L <0.15 <0.15 <0.15
TURIT tE B Fmg/ R 0.02 10.07 <0.01 0.01 0.01
TH WRE®E B B ne/ 0 0.001 0.001 0.005 <0.001 0.007
W BRERE R wR 0.352 0.357 0.263 0.837 0.745
WO O e/ <0.003 <0.003 <0.003 0.007 0.007
BlA B S|m/R <0.02 - <0.02 ' <0.03
H B  # pSn 89.1 85.1 71.3 63.5 46.2 47.9
i B mg/ 0 <5 <} <H <5 10) <5
BERA AT e/l 2.7 3.6 2.9 2.1 1.3 1.3
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A MWEHEH fREEE] | 13:50 10:40 10:15 10:47 10:44 10:30
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BREEEEETE | K
H | igmeE | - > A it o i B

MEEE [ om
By i ERHkEE m

2 Kk & m

BEBEE | m 2.5 7.6 10.5 11.0 7.1 4.5

HE XY Ang/R <0.005 <0.005 <0, 005
gy 7 ime/ R N.D. N.D. N.D.

H OB fime/ N.D. N.D. N.D.
35 i mg/ *<0.05 <0.05 <0.05

2OL(BE) |[mg/R <0.02 <0.02 <0.02

4 Fong/ 0 <0.02 <0.02 <0.02

2 Kk #®eg/P <.0005 <.0005 . <.0005
Bl7 858K &8 apsf

P C B| ug/

P o - 7.6 7.7 7.4 7.5 7.9 7.5
& D, 0| mg/ 2 9.5 8.y - 9.3 10.1 10.8 10.9
#HB 0 Dlmg 1.0 <0.5 0.5 <0.5 <0.5 1.0
BC 0 Dm/f 2.3 2.4 1.9 1.7 1.8 2.1
#s S| mg/ 2 1 <l <1 <1 <l <l
TH K BE B 2 ] MPN/100nG .90 0-9E01 {.3801 0.0E01 0.0E01 0.0E01
Bl n—-Hex mg/ @ .

2 B R/l 0.80 0.39 0.35 0.40 0.26 0.39

2 mg/ .| <0.00% <0.003 0.008 0.130 0.0083 0.005

T - lug/R ]

i mg/ £ <0.01 <0.01 <0.01
vl §Y mg/ 2 <0.01 <0.01 <0.01

(B ML ) mg/ 0 <0.1 <0.1 <0.1

Ny GEEE) me/ 2 <0.03 <0.03 <0.05
WMy o Almg/@ <0.01 <0.01 <0.01

70w FHmg/D <0.15 <0.15 <0. 19

FUEST 2 # ome/ 0 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
17 BEGHBATE 2 3 me/ R 0.001 <0.001 <0.001 <0.001 1 <0.001 0.001

B Bt B % ne/ 0 0.267 0.257 0.172 0.202 0.222 0.282

B OB R e/l <0.003 <0.003 0.005 0.009 <0.003 <0.003
BA B S/ <0.02 <0.02 <0.034

¥ B H uSlem 49.4 56.1 67.5 79.2 80.9 - 72.0

& 2 ng/ < <5 <5 <5 <5 <5

B A A Amg/R 1.2 1.4 1.9 2.3 2.4 2.4
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